Physics I

Galileo's Experiment

1. You and a partner will need a steely, a ramp, and a stopwatch.  

2. Divide the length of the ramp into 6 roughly equal distances, and measure as exactly as you can the distance from the top of the ramp to each of the six marks you have made.

3. For each of the six distances from the top of the ramp, record the time of travel for five trials.  Average these.times.  

4. Plot a graph with time on the horizontal axis, and distance on the vertical.  (It is traditional in kinematics to always put time on the horizontal axis, even though in this case it is the dependent variable)  Either estimate your uncertainty and include error bars, or graph all five trials for a given distance, emphasizing the average.  You do not need to depict the uncertainty in the distance.

5. Make a table with the logarithms of distances and average times.  Graph this data with log(time) as the horizontal axis, and log(distance) as the vertical axis.  Fit the best straight line through the data points.  Use the slope of the line to determine the power dependence of distance on time.  Show your calculations in a general sense. 
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